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using
using
using
using
using
using
using
using

Microsoft.VisualStudio.TestTools.UnitTesting;
A6;

System;

System.Collections.Generic;

System.Ling;

System.Text;

System.Threading.Tasks;

TestCommon;

namespace A6.Tests

{

[TestClass ()]
[DeploymentItem("TestData", "A6_TestData")]
public class GradedTests

{

[TestMethod(), Timeout (500)]
public void SolveTest_Q1ConstructBWT ()

{
RunTest (new Q1ConstructBWT("TD1"));

}

[TestMethod (), Timeout(1000)]
public void SolveTest_Q2ReconstructStringFromBWT ()

{
RunTest (new Q2ReconstructStringFromBWT("TD2"));

}

[TestMethod (), Timeout (500)]
public void SolveTest_Q3MatchingAgainCompressedString()

{
RunTest (new Q3MatchingAgainCompressedString("TD3"));

}

[TestMethod (), Timeout(1000)]
public void SolveTest_Q4ConstructSuffixArray()

{
RunTest (new Q4ConstructSuffixArray("TD4"));
X
public static void RunTest(Processor p)
{

TestTools.RunLocalTest("A6", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);

X
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using System;
using TestCommon;

namespace A6

{
public class Q1lConstructBWT : Processor
{
public QlConstructBWT(string testDataName)
: base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<String, String>)Solve);

/// <summary>
/// Construct the Burrows-Wheeler transform of a string
/// </summary>
/// <param name="text"> A string Text ending with a "$" symbol </param>
/// <returns> BWT(Text) </returns>
public string Solve(string text)
{
throw new NotImplementedException();
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using System;
using TestCommon;

namespace A6

{
public class Q2ReconstructStringFromBWT : Processor
{
public Q2ReconstructStringFromBWT (string testDataName)
: base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<String, String>)Solve);

/// <summary>
/// Reconstruct a string from its Burrows-Wheeler transform
/// </summary>
/// <param name="bwt"> A string Transform with a single "$" sign </param>
/// <returns> The string Text such that BWT(Text) = Transform.
/// (There ezxists a unique such string.) </returns>
public string Solve(string bwt)
{
throw new NotImplementedException();
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using System;
using TestCommon;

namespace A6
{
public class Q3MatchingAgainCompressedString : Processor
{
public Q3MatchingAgainCompressedString(string testDataName)
: base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<String, long, String[], long[]>)Solve);

/// <summary>
/// Implement BetterBWMatching algorithm
/// </summary>
/// <param name="text"> A string BWT(Texzt) </param>
/// <param name="n"> Number of patterns </param>
/// <param name="patterns"> Collection of n strings Patterns </param>
/// <returns> A list of integers, where the i-th integer corresponds
/// to the number of substring matches of the i-th member of Patterns
/// in Text. </returns>
public long[] Solve(string text, long n, String[] patterns)
{
throw new NotImplementedException();

}
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using System;
using TestCommon;

namespace A6

{
public class Q4ConstructSuffixArray : Processor
{
public Q4ConstructSuffixArray(string testDataName)
: base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<String, long[]>)Solve);
/// <summary>
/// Construct the suffiz array of a string
/// </summary>
/// <param name="text"> A string Text ending with a "$" symbol </param>
/// <returns> SuffizArray(Text), that is, the list of starting positions
/// (0-based) of sorted suffizes separated by spaces </returns>
public long[] Solve(string text)
{
throw new NotImplementedException();
}
}
}
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